E:# Add, Subtract, Multiply & Divide Decimals

Name:

Solve each problem.
1) 58+ 39.47 =

2)

83-824=

3 4.39 x 3.129 =

4 83-824-=

5 1,920 + 0.96 =
6) 70.56 + 64.385 =
7) 83-824-=
8 1.8x7.89=
9)

0.148 + 7.4 =

10) 91.9+52.7 =

11) 548 x 2.28 =

12) 0.777 + 0.74 =

Answers

10.

11.

12.

1-10
11-12
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Name: Answer Key
Solve each problem. Answers

1) 58 +39.47 = 97.47

1. 97.47
2) 83-824= 06 2. 0.6

5 13.73631
3) 4.39 x 3.129 = 13.73631 . 06

5 2,000.
4 83-824= 0.6

o, 134.945
5) 1,920+ 0.96 = 2,000. 7. 0.6

8, 14.202
6) 70.56 + 64.385 = 134.945 ) 0.02

10 1446
7) 83-824= 06

1 12.4944

12 1.05

8 1.8x7.89= 14.202

9 0.148+7.4= 0.02

10) 91.9+52.7= 144.6

11) 548 x 2.28 = 12.4944

12) 0.777+0.74= 1.05
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